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Ill Semester B.Com. Examination, April/May 2023

(CBCS) (Repeaters)
COMMERCE
Paper - 3.4 : Financial Management
Time : 3 Hours Max. Marks : 70
Instruction : Answer should be written completely either in English or
in Kannada.
SECTION - A

1. Answer any five sub-questions. Each sub-question carries 2 marks.  (5x2=10)

a) What is Financial Planning ?
TETORO CIREWHOL WFFBIY BRR.

b) What is Dividend ?
L0 Q0TTERY ?

c) What is operating leverage ?
FOORF BT OTTee DOTITER ?

d) Mention any 4 sources of working capital.
TCDFITE WOBTHT ToOL, TRONTR) SR

e) What do you mean by stock dividend ?
T TRYROBII Aewy Bert 57 FROIRD ?
f) Name two principles of financial plan.

TEITORAT 03ReRTO3 TR 33;1@3% PR,

g) The earnings after tax is ¥ 12,30,000, income tax rate is 38.5%, interest is
% 4,00,000. Find out EBIT.

3ort F03T eyl T 12,30,000, 307 =T Se. 38.5, W& X 4,00,000.
EBIT g0z &&R0200.

P.T.O.
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Answer any three questions. Each question carries 6 marks.

2. What is dividend ? Explain the various forms of dividend.

D

SECTION -B

OYTOB DOTTER ? TOYOOBT LFRTY DTWOX.

3. “Financial management is indispensable in any organisation”. Bring its

importance.

A

(3x6=18)

“odnaydde womd B TeaFRd AT 8;TY,". ATT 37,3300, 30T DTOR.

4. From the following information, calculate operating, financial and combined

leverages.

Sales ¥ 8,00,000, Variable cost 25%, Fixed cost ¥ 1,50,000, Tax rate is 50%,

10% Debenture ¥ 1,00,000.

et ﬁ.raégﬂj BOR €908 CH0BNOOT FToOSNE LIV, BEITORD NS 2003Re3E OZTees® mfa’%

FOBOHLROWD.

=poowd T 8,00,000, wmeends 5@25%, 5%6 ﬁ?{ﬁ 1,50,000, 301 =38 50%,
3e. 10 o, N woiwe X 1,00,000.

5. Prakruthiand Co. is willing to purchase a machinery. The cost of each machine

is ¥ 50,000, cash inflows are expected to be as under.
Machine P

Years

15

3
4
5

Calculate pay back period.

(inX)
15,000
20,000
25,000
15,000
10,000

Machine Q

(in )

5,000
15,000
20,000
30,000
20,000



O

8,8 T8 TR 10T ohoZ TRy, DOBID AWRIT. T8 03003, e
% 50,000, Srich 2450w 35 SUNF03 A0S,

SR o303, P (X ivQ)
1 15,000

2 20,000

3 25,000

4 15,000

5 10,000
0TS e;aﬁt‘;)odaaigL FOTRI&BOWD.

-3-

003, Q (X ¥0)

5,000
15,000
20,000
30,000
20,000
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6. Calculate the present value at the end of five years of the following payments

at 9% rate of interest.

At the end of 1styear ¥ 12,000
At the end of 2™year ¥ 16,000
At the end of 3@year ¥ 20,000
At the end of 4" year ¥ 24,000

At the end of 5" year ¥ 28,000.

3 BINT TOTS0DT, B)& TRFT ZRIoDY, 3e3R® 9 Tod W TWEATT 5 TR

TRBHONY, BTT T, AT TP, FOBOLBOWD.

SpTedod IR 808,39 X 12,000

HTRID SRFT ©oB, Y X 16,000

BRTICD TRFT woZ B X 20,000

meJdFSOdJ JRFT 03B X 24,000

VIIOR WRFT 08,5 X 28,000.
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SECTION-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. What is financial plan ? Explain the principles of sound financial plan.

BEaFoRD C3RERT DOTTERD ? LVZ TEaFoRd 3RexToD SFNRPRY DTOR.

8. What is working capital ? Explain the factors influencing on working capital.

FOODFATT WOBTP Q0TI ? FoONFRATT WOBPT RWoeY T, 08 WeTOT
BOBNTRY, DWOR.

9. The information given below is related to Madhu Co. Ltd.
Initial investment is ¥ 2,00,000
Salvage value is 10%
Economic life of project 5 years

The expected profit before depreciation and tax is given below (PBDT).

Year 1 2 3 4 5

PBDT 38,000 48,000 58,000 68,000 78,000

P.V. factor at 10% discount rate is
Year 1 2 3 4 5

P.V.factor 0.909 0.826 0.751 0.683 0.621

Based on the above information you are required to calculate ARR and NPV.



00 -5-
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ST FOTAIN FOWOAT PS03 F950@0STOZ .
TR&AENT T 2,00,000, cves BPY, 10%,28e0T0[E 5 TR,
BOTRRIHT FeITP B FOrinog BeBOS woyisy (PBDT) 3980@0803 .
vt 1 2 3 4 5
PBDT 38,000 48,000 58,000 68,000 78,000
Je. 10 © 8R2 =T
et 1 2 3 4 5
IRITT 0.909 0.826 0.751 0.683 0.621
Roed B8 DY, WSS BHRCPOOT ITF TR0 SR, FoBY FTeRO WIBONT
TOTR, FOWIEBAWD.

10. From the following information, calculate pay-back period of both the machines
Xand.

Particulars Machine X Machine Y
Cost of each machine ¥ 5,00,000 ¥ 6,00,000
Life 5 years 6 years
Corporate tax rate 50% 50%

Cash inflows (in %)

1<t year 1,10,000 1,80,000
2" year 1,40,000 2,10,000
3 year 1,70,000 2,40,000
4 year 1,60,000 1,90,000

1,30,000 2,00,000

Sthyear
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B980T R&S0T 0308, X 032 Y Y &0 TWROPT), BORLRAD.

11

Patniet ]
2, dzgs

AT DA A

goTRod o1 ©T

I[N wETOR) (X n¥9))

13 IA3F

23e IR

33e I3

43e IRF

53¢ IRF

o303, X

¥ 5,00,000

5 IHF

50%

1,10,000
1,40,000
1,70,000
1,60,000

1,30,000

AR

o303, Y
¥ 6,00,000
6 NRF

50%

1,80,000
2,10,000
2,40,000
1,90,000

2,00,000

Sri Gowri Ltd. Company has equity share capital for ¥ 50,00,000 of 100 per
share. Co. wants to raise further ¥ 30,00,000 for major expansion programme

with following 4 alternative plans.
a) All equity shares.

b) All debentures at 10% interest rate.

c) ¥ 10,00,000 from equity and ¥ 20,00,000 from 10% debentures.

d) ¥ 15,00,000 from equity and ¥ 15,00,000 from 10% preference shares.

The corporate tax rate is 50%,

calculate EPS of each plan of EBIT is ¥ 8,00,000.
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RO RO BoTRO T Ry 2 50,00,000,% 100 ROTRT, Reth odmvtnonr
-Dlevel ébazréox‘ogdo 2, 3&; 3,300 e:sapwdao N Saipb ¥ 30,00,000 em;susom%
3980 4 Qo m«wnvag Lomeienns,
8) b, Sega IR, Hechreon T,
b) ) mgwaa 3e. 100 ROOTI, Yo T,
c) ¥ 10,00,000 mmqs Reconwor DV e T 20,00,000 5‘31 3e. 100

MOTZ R0 Brctomb.

d) ¥ 15,00,000 xR, WERT, Hedonwors B wvem T 15,00

000 = Fe. 108
T Reoneos DB,

B0 ot =T Fe. 50 N, EBIT ¥ 8,00,000 =33 0,8 odnemSod T8
Reds em,jwmq (EPS) som>&a0000.




